Trig Practice WS 3

sinf = 2 — ¥ | cgcf =2 ¢
h%p r ﬁpp y
cosQ:g—J—£ secf =2 ==r
yp r adj T
tanf = L2 = ¥ | ot = W2 — 2
adj T opp. Y

1. fxr=3and y=4find r

and the following trig ratios:

sinf = csch =
cosf = sec =
tan 6 = cotf =

2. f = —-5and y =12 find r

and the following trig ratios:

sinf = csch =
cosf = secl =
tanf = cotf =

3. If = —6 and y = —6+/3 find r
and the following trig ratios:

sinf = cscl =
cosf = secl =
tanf = cotf =

4. If x =8 and y = —15 find r

and the following trig ratios:

sinf = csch =
cosf = secl =
tanf = cotf =

Name:

5.

(8, —15)

Find the trig ratios for each quadrant:
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